Zrol /A =90° Q1 AZHAZHE ABC 9] ZAIA A o4 H
FA9 S D 2tal & o, AABC 9] Hol=?

>

D 36 @ 37 ® 38 @ 39 ® 40



St ?

?_

O
=

@ ABC oA x+y o] &




50°




AABC ¢} ADEF 7} o2 2742 9HES uf], AABC 0 ADEF 7} & #]

oF1— O 1

@gzgzg @E:C—A,AC:AF
DE EF FD Ej %
B B

(A =/D, /C=/F — = —, /C=/F
© @DE EF

® /B =/E, /C=/F



O 2.5cm @ 3cm ® 3.2cm

@ 4cm ® 5cm



6. t©}L oA LAED = /ABC, AD =
6cm, AE = 10cm, EC = 2cm 9 9, x 9
Aol Fatole,

B -



7. AABC 94 BE = CE = 8cm, HE = 6cm € ©j], AH 2] Zo]=?

A
H
I
6¢c 0
| sl
B ~8cm- "E ~8cm-~
@ 4cm @ %Cm ©) ?cm

@ 6cm ® Ecm



8.

Ch 2 oA x 9 gh2?

N |

N | o

A
4em/ |\

/

I 1
D scm
3¢ /

cm> E

rem
/
C

~~6cm-~ "~

| Ot



AABD 9} AACBOlA (D) & 35,
7Hg oA (@)=(®)

A7+ ol g-ez A (@) 2lste] AABD (®) AACB o]t}

20 =

A

O /B @ (ADB ® /ACB

@ £SSS ® =



10. TS % AABC 9 aA’B/CY ©] HA] 9=

®© ® © 0 ©

AB BC CA
A/B/ _:Blic/ - C/A;

AB _BC o
A/B/ B/C/
BC 3

— =—-, /B=/B’, /C=/C
pC 4

AB _AC 1w
A'B AC 2

LA = /A, /B = /B




11.

o2 1o A AABC 9] B =2

@ 22 @ 24 ® 27



12. 2 1994 AB = AE = 3cm, BD = 2cm,
DE: AC & +-stofzt.




13. o2 AABC 94 /B = /ACD, AC
18cm, AD = 10cm ¥ ©j, BD 9] Zo9]

Tatolat,

= |
=

I
\

a = cm



Hil A

o] o1& a8 AHgste] Lrehfiofer,

C




15. ©& oA /ABC = /ACE = /CDE = 90° & 1], x o] Zo]&
Fofelet.




16. o= "4 LABC = /FDC = 90° & o, AADE &} -2 42t o]
obd 21& BE TEH?

A
D
E
-
F B C
O AEBC @ AABC ® AFBE

@ AFDC ® AEDC



17. & TFo)A A = 90° €1 AABC
LAH B 9t C7F ARk A&




18.

3 A 7 W BC 9] A B 0% %
A9t} BD = 8cm , BE = 4cm , DE
_ 7em 9 ], AF ©] ZolE Fafeler




19. o2 193} o] A4z ABC o HAH A 7FH BC Y9 H E 9
252 H9th BD = 8m , BE = 5¢cm , EC = 10cm € T, AF 9]

Zdol=7?
|
B< = —C
5cm’E~~10cm -
35
O 8cm @ < om ® 7cm
25
@ —cm ® 6cm



20. the 197 o] MA7HY ABCD o)A EAH B 7L AD 9ol 952
e W, x o ke Foofet,




21. o2 2" Fo]l A4 ABC 9 HAI™ A 7 H BC 99 H EO
2T E Al BD = 8m , BE = 5cm , DE = 7cm € o, AF 9]
Zdo|g Fofofet.




=BD ¢ 1, AE

’

22. T+ I3} o] ZAZHY ABCD £ Aglth. AB
‘EB 9] H]E F-sfofet.

A 4 B 4 D
E
B C



